C:# Vergleich mit absoluten Werten

Name:
Benutze >, < und = um zu vergleichen. Antworten
D |8 -65 .
2 200 75 )
3 |-75__I 3
4 77 15
- 4,
5) -52 -80 :
6 |-83  |-96| .
0 F&l__-6 7.
8 1791 |46] .
9 70 18| .
03 — 8 10.
) 4 HI 11.
12) .23 |91 »
13 69 38 "
14 31 -87 "
15 |13 38 .
16) .72 -80 .
0 139 55|
18) 78 42 .
19 17|20 .
20) |43 |-36 .
[ Mathe Y\ commoncoresnestsae 8 1120 a8l a0 [ s 0 55 20 15 10T 5 | 0




Ch Vergleich mit absoluten Werten

Name: L Osungsschlissel
Benutze >, < und = um zu vergleichen. Antworten
D |8 > -65 . S
2 |20 < 75 , <
3 75> |6 L s
4 77 > 15 . S
5 -52 > -80 . S
6) |-88 < |-96| . <
D 13> -6 . s
8 79| > |46] . >
9 [70] > I8 L s
93 = 0l 10. >
) 44 > H 11, >
12) .23 < |91] » <
13) 69 < 38 . <
14) 31 > -87 " S
15 13| < 38 5 <
16) -72 > -80 . S
17) 39| < |-55| . <
18) 78 > 42 . S
19 117] < |-20 o <
20) |43| > |-36| >
[ Mathe Y\ commoncoresnestsae 8 1120 a8l a0 [ s 0 55 20 15 10T 5 | 0




